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0.050kV ~ 5.000kV

£(1%+0.2%HEFE)

1A%

100W (5.000kV/20mA)

20mA

0~ 20mA,0=AFIkT R

200uA. 2mA, 20mA

IE3%iR

2% (EEARMETRE)

1.3~15

DDS+IHig

0.3s ~999.9s 0=F8[% EFHATIEIR

0.35~999.9s 0=1%£E iz

0.35~999.9s 0=EBJF FFERT AR

0.0s ~999.9s 0=[EJfEHT R

4

N#&E, GHE

0.050kV ~ 6.000kV

£(1%+0.2%HEFE)

v

60W (6.000kV/10mA)

10mA

2uA. 20uA. 200uA. 2mA. 10mA

<5% (6kV/10mA)

<200ms

10mA

0.35~999.9s 0= EFHAtAIK

0.3s~999.9s 0=1%LE iz

0.3s ~999.9s 0=FB8/% RZATIEIR

0.0s ~ 999.9s 0=[EJf@HT R

0.3s ~ 999.9s 0=FERTIRERTIEI R

4

N#&ER, GHE

0.050kV ~ 2.500kV

£(1%+0.2%HEFE)

v

10000MQ

9999MQ

T™MQ

0.3s ~999.9s 0=F3 & _EFHATiEIR

0.3s~999.9s 0=1%£E iz
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[P AiE] 0.0s ~999.9s O=[AJPRATIEIR

EEIPLES = ARERFF. K

HRERTIE] <200ms
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AC 0.050kV ~ 5.000kV

SEE
DC 0.050kV ~ 6.000kV

e £(1%+0.2%HEFE)

DHER v

BREE HWISHRIE

mEsw  AC 0 ~ 20mA

DC 0 ~ 10mA

AC 200uA &: 0.TuA2mA #: TuA,20mA #: 10uA

DC 2uA1Y: 0.001uA, 20uA£: 0.0TuA, 200uA#4: 0.1uA, 2mA 4 TuA, TOmA £4: 10uA

MEREE +(1%+0.5%FH22)

{mAEINRE MR B AORIFR IR AT LARRORL S

MpzE= GND #&=: RETURN S FLOAT #&={: RETURN At

=SB 1T™MQ ~ 10000MQ

TMQ ~9.999MQ: 0.001TMQ, 10MQ ~99.99MQ: 0.01MQ, 100MQ ~999.9MQ:
0.1MQ, 1000MQ ~10GQ: TMQ

DHER

0.100kV ~0.300kV: 1.000MQ~999.9MQ + (5%+2 =) ,
0.301kV ~0.500kV: 1.000MQ~999.9MQ * (5%+2 =) ,
1.000GQ ~5.00GQ = (10%+24=F) ,
0.501kV ~1.500kV: 1.000MQ~999.9MQ + (5%+2 =) ,
1.000GQ ~10.00GQ = (10%+2 M=) ,
1.501kV ~2.500kV: 5.000MQ ~999.9MQ + (5%+2 =) ,
1.000GQ ~ 10.00GQ + (10%+2 M=)

B 0~999.9s

PIE 01s

+ (0.1%+50ms)




